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SSWB=SSWB+FWB**2
SWB=SWB+FWB
CALL SUMOUT(SV1,55V/1,SPACSLSPACI 1,FWB VWLS NINDLTNPS,
* TNPLTNP10SPAL0L)
CALL SUMOUT(SV2,55V2,SPAC52,SPAC12,FWB,VDO.I NINDI, TNPS,
* TNPLTNP10SPAL02)
CALL SUMOUT(SV3,55V3,3PA C53SPAC 13 FWB, VDGJNIND L. TKP,
* TKPITKP10,SPA103)
1000 CONTINUE
) | =
WRITE<6,95)
95 FORM ATC 1**************************************'k***************‘)
WRITE(6,100) NGRHO
100 FORMATC **BXNUMBER OF GROUP ; I3,10X,RHO : "IMAX, "+¥)
WRITE(6,110) NIND
110 FORMATC **5X NUMBER OF INDEPENDENT VARIABLE “1210x,**)
WRITE(3,120) NIN2N3
120 FORMATC ** 5X REPLICATION PATTERN 33 /3 33
* 10)("**')
WRITE(6,130) VARLVAR2.VAR3
130 FORMATC **'5X VAR PATIN :'E94" :'FO4' 942X ")
kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk *******1
WRITE(6,140) R
140 FORMATY/ *+++ THE RESULTS ARE BASE ONJS," TRIALS, *++7)
IF (TERR EQ. 1) THEN
WRITE(5,145) (VL<I),1=14),(CO(jy=14)
ELSE IF (IERR EQ. 0) THEN
WRITE(6,146) (VL(1)J=1 4)ICVH,(COQ)rI=4)
END IF
145 FORMATC VL = CAFAL1yj; CO = C4F95,))



146 FORMATE' VL = B4F4L, )'5X,'CV JF5.0" €O dF95, )
WRITE(5,150)

150 FORMATE/6X, 'BETA' 9, 'VWLS' 9, 'VDOJ9X,' VDG 9X, VBAR)
MWB=(SWB**2)IR
VBAR=(SSWB-MWB)R
MO=SWB/R
M1=SVLR
M2=SV2IR
M3=SV3RR
WRITEEd.n0) MOMIM2M3.VBAR

170 FORMAT(LX,F10.5,3X,F10.53X,F10.53X,F10.5,3% F105)
WRITE(5,180)

180 FORMATE/ WEIGHTED LEAST SQUARE METHOD)
CALLPOUT(SV1,SSV15PAC5EPACLLVBARRNINDL TNPS, TNPLI
* TNPLO.SPALOL)

WRITER, 190)

190 FORMATE/LDELETE-ONE JACKKNIFE METHOD)

CALL POUT(SV2.55V2,SPACS2SPAC 12/BARRISINDLTNPS TNP 11
* TNPI0SPAL02)
WRITE{5,200)

200 FORMATE/LDELETE-GROUP JACKKNIFE METHOD)

CALL POUTESV3.55V3.SPAC53 SPACL3 VBARR«ND LTKPS TKP
*  TKPLOSPAL03)

2000 CONTINUE
STOP
END

£***»**»»****»*» a**************
SUBROUTINE SHSORTENG.COLM)

INTEGER COL

DIMENSION DD(2)

210



COMMON /CUL/FIRST(30,6),Y (18,30)

n=NG-|
DO 10 1=1JI
JJ=NG-|
DO 10J=UJ
IF (FIRST(J,COL) .GT. FERST(J+,COL)) THEN
DO 20 K=1,M
DD(K)=FERST(JK)
FERST(J,K)=FIRST(J+1K)
FmST(J+1K)=DD(K)
20 CONTINUE
END IF
10 CONTINUE
RETURN
END
C*************** "ﬂ *kkkkkkkkkkkkkk
REAL FUNCTION RAND()
COMMON /CUIKKJX

IX=1X* 742938285
IF(1X) 10,20,20

10 EX=IX+2147483647+1

20 RAND=rX/2147483647,
RETURN
END

C kkkkkkkkkkkkkkk $ y }me u

REAL FUNCTION NORMAL(MEAN,VAR)
REAL MEAN
COMMON /CUIKKJX
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PI=3.1415026
IF (KK EQ. 1) GOTO 10
RONE=RAND()
RTWO0=RAND()
ZONE=SQRT(-2*ALOG(RONE)}*COS(2.*PI*RTWO)
ZTW0=s QRT(-2. *ALOG(RONE)) *SIN(2. *P *RTW0)
NORMAL=Z ONE*SQRT(VAR)}*MEAN
KK=1
RETURN
10 NORMAL=ZTWO*SQRT(VAR)*MEAN
KK=0
RETURN
END
C******»***»*»»» rlm t SI LI *************Ik*
SUBROUTINE PARA(CO,VL,RHO,NINDING,CVH,CVAJERR)
REAL I
DIMENSION CO(4),VL(4)/(10,10)A(10)3(44)DUMMY (10,10)
*EB(44)
COMMON /CUL/FERST(30,6),Y(1880)

DO 10 1=1,10

A(1)=0,

DO 10J=1,10
DUMMY (I,
V(U)=0.

10 CONTINUE

DO 151=1,4

DO 15 J=14
B(U)=0.



IB(U)=0.
15 CONTINUE
DO 20 I=LNG
JI=FIRST(L)
DO 30 J=13J
DO 30 K=UJ
IF (J EQ. K) THEN
V(IK)=FIRST(12)
ELSE IF (J NE. K) THEN
V(J,K)=RHO*FIRST(1)
END IF
30 CONTINUE
CALL INVPAR(V,JJ)
DO 40 J=UJ
AQJ)=0.
DO 40 K=UJ
0 AQRAQMVIK)
DO 50 J=ININDL
DO 50 K=ININDL
50 B(JK)=B(IK)+A() *FIRST(I,L) *FERST(I 2\ *FERST(1 24K)
20 CONTINUE
CALL INVMAT(IBEVNINDI)
DO 60 I=LNIND!
IF (VL(1) EQ. 0) THEN
CO(1)=(SQRT(IB(,1)*100./CVA
ELSE IF (TERR EQ. 1) THEN
CO(1)=0.
ELSE IF (IERR EQ. 0) THEN
¢ 0(1)=(S QRT(IB(1J))£100,JCVH
END IF

213



60 CONTINUE
RETURN
END

C kkkkkkkkkkkkkkk
'

SUBROUTINE INVPARGXN)
DOUBLE PRECISION A
DIMENSION X(10,10)(10,L0)

DO 5 1=IN
DO 5 J=IN
5 A(1))=DBLE(X(1,J)
DO 7 1=1,10
DO 7J=1,10
7 X(V)=0,
DO 10 L=IN
A(L,L)=-10DOIA(L,L)
DO 20 I=IN
IP (I-L) 30,2030
0 A(IN=-10D0*A(IWA(LY)
20 CONTINUE
DO 40 1=IN
DO 40 J=IN
IF ((I-L)*(J-L) 50,40,50
50 A(I)=A(ID)-ANLFALD)
40 CONTINUE
DO 10 J=IN
IF (-L) 60,10,60
60 A(LJ=-LODO*A(LIFALL)
10 CONTINUE

214
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DO 70 I=LN
DO 70 J=1J1

70 X(Ir)=-| *SNGL(A(Ir))
RETURN
END

0***»****»***»?:* | ’) * *kkkkkkhkkkkkkkkx

SUBROUTINE CALC(CVARNMAX,RHO)
DIMENSION CVAR(182)

SUM=0,
VAR=CVAR(182)
COV=RHO*VAR
¢ VAR(L1)=sQRT(VAR)
CVAR(,2)=COVISQRT(VAR)
DO 10 [=2NMAX
K=I-1
SUM=SUM+(c VAR(K,2))**2
D=VAR-SUM
CVAR(1,)=SQRT(D)
DD=SQRT(D)
IFa -EQ- NMAX) RETURN
CVAR(1,2)=(COV-SUM)/DD
10 CONTINUE
RETURN
END
() Fhddkkkkdokkkkdkk A 1 ! 5 ' ]! Fhkkkkkkkdkkkk
SUBROUTINE GENDAT(NMAX,VARL,VAR2,VAR3NG)
DIMENSION ASUM(30)
COMMON /CUL/FIRST(30,6),Y(18,30)
ICU2/Z(150),CVAR1(18,2),CVAR2(18,2),CVAR3(182)
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DO 10 1=1,30
10 Asum@=o.
DO 20 I=1, NMAX
M=|
DO 30 J=LNG
N=NT(FTRST()
M=0.

IC=0

IF ((FIRST(J.2EQ.VARIAND.(ILE.J)AND.(ICEQ.0)) THEN
Y(IK)=ASUMO)+Z(M) e VAR (L)
SUM=ASUM()+Z(M)*CVARL(2)

ASUM(J)=SUM
IC=]

ELSE EF((FIRST(1EQ.VAR?) AND.(ILEJJ)AND.(IC£Q.0)) THEN
Y(I1)=ASUMO)+Z(MP*CVAR2(LY)
SUM=ASUMO)+Z(M)*CVAR2(L)

ASUM(J)=SUM
ELSE IF((FIRST(J,2)EQ.VAR3)AND.(LLEN)AND.(ICEQ.0)) THEN
U)=ASUM()Z(M)* CVARB(LY)
SUM-ASUM( 1Z(M) e VARY(12)
ASUM(J)=SUM
IC=J

END IF

M=M+JJ

IF (IC EQ. 0) THEN
WRITE(6,*) ***+++kirk GENERATE DATA ERROR ###xxsx
STOP

END IF

—_ ~—



30 CONTINUE

20 CONTINUE
RETURN
END

Oy Rt ftiikksoior t (X'WX) Fhkkkhk kA hhk kK

SUBROUTINE CALMAT(XTWXXTWY, NINDING)
DIMENSION XTWX(4A)XTWY(4) W(30)
COMMON /CULHRST(30,6),Y(18,30)

DO 20 I=ININDL
SUM=0
DO 25 J=ING
%5 SUM=SUMHFIRST(J,1)e (J)(FIRST(I.241)) %2
XTWX(1J)=SUM
20 CONTINUE
DO 30 I=ININDL
DO 30 J=ININDL
IF (11T, J) THEN
SUM=0,
DO 40 K=ING
0 SUM=SUMFIRST(K,1) (K)*FERST(K2+|)*FIRST(K 2+))
XTWX(10)=SUM
XTWX(J,))=SUM
END IF
30 CONTINUE
DO 50 I=ININD!
SUM=0
DO 55 J=ING
KK=INT(FIRST(J.2)



DO 55 K=1,KK
55 M=SUM+w())*FERST(J 24)*Y(KJ)
XTWY(1)=SUM
50 CONTENUE
RETURN
END
C»>’*******l***** | ’ (X'WX)"]. *kkkkkkkkkkkkkk
SUBROUTINE INVMAT(TXTWXXTWXN)
DOUBLE PRECISION A
REAL EXTWX
DIMENSION XTWX(44)IXTWX(4 4)A4.4)

DO 5 I=IN
DO 5 J=IN
5 A(1J)=DBLE(XTWX(1J))
DO 10 L=LN
A(L,L)=-10DO/A(LU)
DO 20 =N
IF (I-L) 30,2030
0 A(LL)=-LODO*A(LL*ALL)
20 CONTINUE
DO 40 1=IN
DO 40 J=IN
IF ((I-L)*(-L)) 50,4050
50 AIJ)=A( )-A(IE)'AL))
40 CONTINUE
DO 10 J=LN
IF (-L) 60,L0,60
60 A(Lm)=-LODO*A(LK)*ALL)
10 CONTINUE
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DO 70 I=IN
DO 70 J=IN
DCTWX(IK)=-1. *SNGL(A(Ir)

70 CONTINUE
RETURN
END

(2*************** bW a**************

SUBROUTINE BETA(WBJXTWXXTWY,N)
REAL IXTWX
DIMENSION WB(4)IXTWX(4,4) XTWY(4)

DO 10 I=IN
SUM=0.
DO 20 J=IN
20 SUM=SUMHXTWX(IR*XTWY())
WB(1)=SUM
10 CONTINUE
RETURN
END
Q*************** ? Kook Py
SUBROUTINE WEIGHT(W,WB"GJTNDINDG)
DIMENSION ~ (30),WB(4)
COMMON /CULIFIRST(30,6),Y(18,30)

DO 101=LNG
IF a -NE- NDG) then
XTB=0
DO 20 J=LNINDL
0 XTB=XTB+FIRST(T.2+J)*WB(J)
SS1=0.



KK=rNT(FTRST(1,1))
DO 30 K=LKK
30 SSI=SSI+OnKJ)-XTB)*'R
W(I)=FIRST(1,2)/SSI
ELSE
()0,
END IF
10 CONTINUE
RETURN
END
[hkkkkkkkkkikkkk ] £ f* ot |1

SUBROUTINE MULTMX(ALA2A12MJCIN)
DOUBLE PRECISION T

DIMENSION AL(44)A2(4 4)A12(4 4)

DO 20 I=IM
DO 20 J=LN
T=0.000
DO 10 L=LK
10 T=T+DBLE{AL(ID))*DBLE(A2(L)
AL2(Ir1)=SNGL(T)
20 CONTINUE
RETURN
END

*kkkkkkkkk
C*************** ! **>Ik»l

SUBROUTINE MOVEMX(SOURCE, TAGET,ROW,COL)
INTEGER ROW,COL
DIMENSION SOURCE(44), TAGET(4.4)
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DO 1=14
DO 5 J=I4
5 TAGET(Ir))0.
DO 101=LROW
DO 10J=1,COL
TAGET(I1J)=SOURCE(1J)
SOURCE(1J)=0.
10 CONTINUE
RETURN
END

o xx¥HHx Trikkx ek \Weighted Least Square Method *raetkiiskaiick
SUBROUTINE WLS(VWLS,DCTWXIXTX, ' ,NINDLNG,VL)
REAL IXTWXIXTXJW
DIMENSION IXTWX(4,4) TXTX(4,4), W(30),WL(30)JW(30),
*XTWIX(4,4), XTrWX(4,4),V2(4,4), V3(4,4) DUMMY (4,4),V(4,4) VL(4)
COMMON /CUL/HRST(30,6), Y(18,30)

VWLS=0.

DO 11=130
W1(1)=0.
IW(1)=0.

1 CONTINUE

DO 51=14

DO 5J=14
XTWIX(U)=0,
Xnw X (Iro=o.
V(U)=0.
V2au)=0.
V3(U)=0.
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DUMMY(1,J)=0.
5 CONTINUE
DO 10 I=LNG
WL(1)=W(I)/HRST(1,1)
IW(1)=L/W()
10 CONTINUE
DO 20 =1 NINDL
SUM1=0.
SUM2=0.
DO 25 J=ING
SUML=SUML+PIRST(J, )" 10)*(HRST(J,2¢1))**2
M2=SUM2+FERST(J, 1) *IW () 5(FERST(J,241))-+»
25 CONTINUE
XTW 1X(13)=SUML
XnWX(13)=SUM2
20 CONTINUE
DO 30 I=LNINDL
DO 30 J=LNINDL
IF (I DT. J) THEN
SUMZ=0,
SUM2=0,
DO 40 K=LNG
SUML=SUML4FIRST(K, L)*W1(K) *FTRST(K 24I) *FIRST(K,2+J)
SUM2=SUM2+FrRST(K, 1) IW(K)*HRST (K 2+1) *FTRST(K 2+))
40 CONTINUE
XTWIX(13)=SUML
XTW 1X(JJ)=SUML
XTTWX(13)=SUM2
XTIWX(J)=SUM2
END IF



30 CONTINUE
CALL MULTMX(IXTWXXTWIX,VZNINDININDIN[ND1)
CALL MULTMX(V2IXTWXLUMMYMNINDIMINDININDI)
CALL MOVEMX(DUMMY V2J*rNDI,NINDI)

CALL MULTMX(IXTX XTIWX,V3NINDININDIjroroi)
CALL MULTMX(XTW1X,V3,DUMMY NINDL,NIND1J4IND1)
CALL MOVEMX(DUMMY,V3NINDININDI)
CALL MULTMX(IXTWX,V3,DUMMYNINDININDININDI)
CALL MOVEMX(DUMMY,V3,NINDIjrasroi)
CALL MULTMX(V3IXTX\DUMMY NIND ININDININDY)
CALL MO\TEMX(DUMMY ,V3&IINDLNINDY)
CALL MULTMX(V3 XTW1XDUMMY,NIND1,NIND1,NIND1)
CALL MOVEMX(DUMMY,V3NINDL,NIND?)
CALL MULTMX(V3JXTWX,DUMMYNINDININDININDI)
CALL MOVEMX(DUMMY,V3,NINDL,NIND?)
DO 50 1=1JCND1
DO 50 J=1,NIND1
50 V(IR)=IXTWX(IR)+4.2V2(Ir)+4.2V3(1r)
DO 60 I =I,NIND1
A=0.
DO 70 J=1,NIND1
0 A=A+V(IRVL()
VWLS=VWLS+A*VL(])

60 CONTINUE
RETURN
END

Ferkkekk Pk Modified Delcte-onc Jackknife Method *exkikiskkakakk
SUBROUTINE DOJ(VDOJ, ,DCWXJIXTX,WB3,NG,NINDL,VL)
REAL IXTXIXTWXJVV1



DIMENSION ~ (30)JXTW X (4,4)IXTX (4,4),WB(4)3(4),
*A1(4),A2(4) SUBTWB(4) SUBTB(A)N1(4,4) V3(44),  1(44),
WV2(44),  3(44IVVL(AL) DUMMY (44) BWB(4)V(44)VL()
COMMON /CUIFmST(30,6),Y(18,30)

VDOJ=0,
DO 5 1=14
DO 5 J=14
V(U)=0.
VV1(U)=0,
9 )=0.
()
CONTINUE
DO 6 1=14
IF (I DE. NINDZ) THEN
BWB(I)=WB(I)
ELSE
BWB(1)=0,
END IF
6 CONTINUE
DO 10 I=LNG
AAL=0.
AA2=0.
B1=0.
B2=0.
DO 20 K=1NINDL
AL1=0,
A22=0,



DO 30 L=1JAND!1
Al L=ALLHIXTWX(KA*FERST(1,2+L)
A2=A22+DCDC(KN*FIRST(1,24L)
30 CONTENUE
AL(K)=ALL
A2(K)=A22
AAL=AATHALLHFIRST(1.24K)
AR2=AA2+A2XFIST(1 24K)
B 1=B 1+BWB(K) *FERST(1,24K)
B2=B2+B(K)*FERST(1,2+K)
20 CONTINUE
AAL=AATHW(])
J=INT(FIRST(1,L)
DO 10J=UJ
DO 40 K=LNINDL
SUBTWB(K)=-L*ALK)  (I/*(Y(BDI(L an L)
SUBTBI(K)=-1 *A2(K)»(Y(3])-B2)/(1-AA2)
4 CONTINUE
DO 50 K=LNINDL
VI(KIE)=(L-AALHSUBTWB(K))**2
V3(KK)=(1-AA2) *(SUBTB(K)) **2
DO 50 L=1NINDL
IF (K IT. L) THEN
V1(KX)=(L.-AAL)*SUBTWB(K)*SUBTWB(L)
V3(KE)=(1 -AA2) SUBTB(K)*SUBTB(L)
VI(LIC2VIKAL)
V3(LIC)=V3(KU)
END IF
50 CONTINUE



DO 10 K=ININDI
DO 10 L=L,NINDL
| (KL)=WLKL)AVL(KY
S=VI(KJy)IFERST()
2KE)=  2(KLO+S
IKIF KN
10 CONTINUE
CALL INVMAT(IVVL VWL NINDI)
CALL MULTMX(IVVL\VV/3 DUMMY,NINDLNINDININDY)
CALL MOVEMX(DUMMY,  NINDLNINDZ)
CALL MULTMX(VV2, 3, DUMMY.NINDLNINDLNINDY)
CALL MOVEMX(DUMMY,  NTNDLNINDY)
CALL MULTMX(VV3JVVID>UMMYAINDININDIAnNDI)
CALL MOVEMX(DUMMY,  JOINDIJTINDI)
CALLMULTMX( 3, 2DUMMY,NINDLNINDLNINDY)
CALL MOVEMX(DUMMY, ~ 3NINDLNENDY)
DO 60 I=LNINDL
DO 60 J=LNINDL
60 V(LI=WWIILIHE: 20044 ()
DO 70 I=LNINDL
A0,
DO 80 J=L,NINDL
80 A=A+V(IML()
VDOJ=VDOJARVL(l)
70 CONTINUE
RETURN
END
(;*************** Delete_group Jaokknlfe MethOd *kkkkkkkkkkkkkk
SUBROUTINE DGJ(VDGJWBIXTX"GJHNDLVL)
REAL rXTXIDXTWX



DIMENSION WB(4)JXTX(4,4)IDXTWX(42)DXTWX(4,4DXTWY (4)|
*DWB(4)DW(30)3WB(4),V(4.4). DUMMY (4,4),VL<4)
COMMON /CUL/FIRST(30,6),Y(18,30)

VDGJ=0.
DO 11=14
IF (I DE. NINDZ) THEN
BWB(1)=WB()
ELSE
BWBa)=0.
END IF
DO 1J=14
V(1J)=0.
1 CONTINUE
DO 10 1=1JIG
DO 20 J=1JIG

IF (I EQ. J) THEN
DW(J)=0.

ELSE
DW(J)=L.

END IF

20 CONTINUE
DO 25 J=I.4

DXTWY(J)=0.

DWB(J)=0.

DO 2 K=14
DXTWX(JIC)=0.
IDXTWX(J K)=0.

25 CONTINUE
CALL CALMATPXTWXDXTWYDWJUNDIJIG)



CALL INVMAT(IDXTWXD>XTWX,NIND1)
CALL BETA(DWBIDXTWXJDXTWY,NIND1)
CALL WEIGMXDW.DWB.NG.NINDLJ)
CALL CALMAT(DXTWX,DXTWYL2WNINDLNG)
CALL INVMAT(IDXTWXIDXTWXjnNDI)
CALL BETA(DWBJIDXTWX,DXTWYNINDI)
B=0.
C=o.
DO 30 J=LNINDL
A=,
DO 40 K=1,NIND1
40 A=AHXTX(JIC)HFTRST(1,2+K)
B=B+A‘FIRST(1.2+))
30 CONTINUE
C=B*FERST(1,1)
DO 50 J=L,NINDL
DO 50 K=ININD1
50 VIK]=VIK:)HL -C)*(DWB(I)-BWB(J))*(DWB(K)-BWB(K))
10 CONTINUE
DO 70 I=1,NIND1
A=,
DO 80 J=1WIND1
80 A=A+V(LIHVLQ)
VDGJ=VDGIHA*VL(I)
70 CONTINUE
RETURN
END
C*************** KkkkKkhKRK KRR KA
SUBROUTINE SUMOUT(SV,SSV,SPAC5,SPACI,WB,VIMNDI, T5,T1,T10,
¥ SPACIO)



REAL LOWSLOWILOW10

SV=SvV+V

SSV=SSV-HV**2

SQRTV=SQRT(V)

UP10=WB+T10*SQRTV

LOW10=WB-T10* SQRTV

UP5=WBH+T5*SQRTV

LOW5=WB-T5*SQRTV

UPL=WB+T1*SQRTV

LOW1=WB-T1SQRTV

IF ((UP10 GE. 0) AND. (LOWIO LE. 0)) THEN
SPAC10=SPAC10+1,

END IF

IF (( P5 (GE. 0)) AND. (LOW5 LE. 0)) THEN
SPAC5=SPAC5+1.

END IF

IF (( Pl (GE. 0) AND. (LOWL LE. 0)) THEN
SPAC1=SPACL+1.

END IF

RETURN

END
S ] | I
SUBROUTINE POUT(SV,55 V/,SPACs,SPAC 1VBARR NINDL TS,TZ,
* T10SPAC10)
REAL MVAMSEV

INTEGER R

WRITE(6,10)
10 FORMAT(6X,RB 9% 9%, CV/ % 6X;P10(RET)\6X,
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% 'P5REJ) 6X 'PLRED)

MV=SVIR

BIAS=MV-VBAR

MSEV=(S5V+R*(VBAR**2)-2.*VBAR+ )R

RB=(BIASIVBAR)*100,

CV=(SQRT(MSEV)/VBAR)*100,

PREJ10=1 -(SPACIOR)

PREJ5=1-(SPACSIR)

PREJI=] ~(SPA! LR)

WRITE<6,30) RB,CV,PREJI0PREJ5 PREJL
30 FORMAT(AX(ET.26X F7.2,7X,F5.38X F5.38X F5.3)

RETURN

END
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